(B 5% 35)

FALFER X (BER)
IEES F15
IE4 B =KItEEFEFRABROFENLBUELSE
TG EATELEETFL6T H25F M EERI=AESFER
TEEH #EE— AfLAE FIRfTE— MR F AL (BREER)
AFLDBHEF 5 Pt
S 2% 5H29H 13:00 EERI=KILLEFFRK
FAFLOD B EF 5 Pt
o 2% 5H29H 13:20 EERI=ARILEFEK
=1 ) = H
89.518.000 SR 2R A EILERE 83,358,000
T E H & (81.380,000) e (75,780,000)
AR I PR A 45 (gggggﬁgg) S8 L
AfLESR FE1EIAFL BEAL
%5 CES e = ®|® H wo=
1 (B)AAVv< R
2 (#R)3vy 84,440,000
3 FESEEWER 103,950,000
4 MR (FR) 84,600,000
5 #)avizioa 78,580,000
6 AXFEEHIE (K 75,780,000 EABBELLTRE
7 EMO 1R E] (¥) 84,000,000
8 () a— —ENLF— 113,000,000
9 (Hea—< 8% 95,600,000
10 (%)< 1IL#A R
11 (%) REEH 84,500,000
12 (¥) R ILVY R 93,000,000
13 (%) EY—T 78,400,000




